Directions

- Complete one Math’s Mate sheet per week. Completing all of them at the start of the
summer or leaving them all for the end of the summer will defeat the purpose of this
assignment.

- After you complete each sheet, use the answer key to check your work. Circle any
problems that you do not understand, and be prepared to ask questions about them in
the fall.

- Feel free to use scratch paper to work out any of the problems. Please attach that scrap
paper to the sheet you're working on once you’re completed it.

- This work should be completed as independently as possible. It's much more important
that your teacher sees what you can do on your own than that you get every problem
right.
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MATH'S MATE
Term 4 - Sheet 1

1. [+ Whole Numbers to 10] MULTIPLICATION
2411 9 1133 |[111][30 7 18] 12] 6 || 25 s EinEy
+6 e.g. Could this answer
be correct?
2. [~ Whole Numbers to 10] 48 x 362 = 17,376

120 9 [ 18] 17 10][ 34| 13] 41| 26| 55 Check:

(4+8) x (3+6+2) = 1+7+3+7+6

—7 2 x 11 = 24
3. [x Whole Numbers to 12] (1+2) x (1+41) = 2+4
3 x 2 = 6

S 6 2 i / 12]{10] S 4 6 Yes, the answer is

x 8 probably correct.

?
4. [+ Whole Numbers to 12] Could these be correct:

129 =
40| 15 (2560 || 45 ]| 5 [[55]130][35]120] || £ 1o0x 3997 o7 403
- 5 Buoum Ajz4iuiyap (q ‘1924400 2G ADW (D :SJamSUY
5. [Large Number +,~] 8. [Decimals] 11. [Integers]
Mark with a cross the number
1000 5.31 that is 2 to the right of -3
- 243 - 0.87
“6543210123456
12. [Operations] *
6. [Large Number x,+] 23-8+4+5=
8 9 9. [Fractions]
| y 138. [Place Value] *
x/4 31424 Estimate the sum of the
6 6 decimals 5.08 and 6.9 by

rounding to the nearest whole
number before adding.

10. [Decimals / Fractions / Percents] *

Which ratio forms a

proportion with % ? 14. [Patterns / Equations]
7. Powersof 10 7 & Complete the table:
20900+ 100= M7 Y6 92 Vs ¥ Patterns
No. of stars | 1 2 3 | 4
No. of points| 5 | 10 20

0/0/0/0/0/0/0/0/000CO]O



15. [Location] * 20. [Data Analysis]
What is the distance along 18th Street How old, in dog years, is your dog after
from H Street to Constitution Avenue? 5 human years? Dog’s life!
LT S Bt | R 1 “ﬂé?/
a’id,% . ':“%ﬁ! ‘\e‘”‘(oﬁl-w 15 SRR REERY RS R _,_,S_—
TOUl B g |l
! ;r’\’\‘\ Fg 1 3 FStreet g X
- AA-AN . I:’
New‘mirJ"em"e T e ¥ sy} vania Avenue ST it
———— T i et
A A 4 B Wa bl 0 10 20 30 40 50 60 70 80 90 100
ﬁ E ( & W ,I ‘5 g Dog Years
- [ 21. [Probability / Statistics]
I " How many people jog?
Swim Do not
Swim and Jog  swim
16. [Geometry] only chg ogly or jog
Which of the shapes below is the side ‘ o
view of this solid? 4
top
|
g Side 22. [Problem Solving 1]
it ill in the missing n r.
A) fortpy o) Fill in the missing numbe
12 x =36
23. [Problem Solving 2] *
17. [Units of Measurement] * Complete the mog[c 4
Write in quarts: square. 6
_ [Hint: Every row, column and
3 gOl - qt diagonal has the same sum.] | 8
18. [Measuring] *
The flight to Los Angeles was scheduled 24.  [Problem Solving 3]
for 8:45 AM. but was delayed F'lll in the appropriate numbers for the
95 minutes due to fog on the runway. titles of the 5 famous stories below.
What time did the Now add the 5 numbers.
ﬂ'lght leqve? . Hundreds| Tens | Units
Ali Baba and the Thieves
19. [Perimeter / Area / Volume] * Dalmatians
Find the area of this square.
[Area = length x length] The Musketeers
=t Around the World in Days
] Snow White and the Dwarfs
5in.+
. TOTAL
in.?
Red 4.1 ©) Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2011
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MATH'S MATE
Term 4 - Sheet 2

1. {+ Whole Numbers to 10] MULTIPLICATION
141{[321([ 19110 15(28 7 [ 133116 {Check Youn Answer)
4 e.g. Could this answer
+ be correct?
2. [~ Whole Numbers to 10] 46 x 92 x 39 = 165,048

9's can be thrown out

268 5 233129 207 || check)

(4+6) X 2 X 3 = 1+6+5+0+4+8
~J 10 x 2x3= 24
3. [x Whole Numbers to 12] 1 x 2x3= 2+
2 x 3 = 6
4 / ! 6 L5 [ 12)| 4 ji11] 3 Jl10 Yes, the answer is
X probably correct.
4. [+ Whole Numbers to 12] Could these be correct?

21 x 85 x 37 = 69,045
64 40][88] 16 72] 56 | 24] 32] 96]1481 || 550 o0 45080

- 8 492u402 29 AbW (q ‘buoum AjaL1ul4ap (D :suemsuy
bs [Large Number +,—] 8. [Decimals] 11. [Integers]
Mark with a cross the number
4205 98.45 that is 4 to the left of 1.
-2174 -23.76

----------

6543210123456

12. [Operations] #*
6. [Large Number x,+] 16-4+7-3=

9. [Fractions]
6 4 9 13. [Place Value] *

x5 9 4% + 3 Estimate the difference
between the decimals 24.4 and
14.8 by rounding to the nearest
whole number before

10. [Decimals / Fractions / Percents] * subtroctlng.
Which ratio forms a
proportion with %7 14. [Patterns / Equations]
fl- POl 10 N Complete the table:
3100 = 10 = Als Bl Op Dg Food Intake - Giant Panda

No. of days | 1 2 3 4
Bambao (Ib) | 30 90

page | 0000000000000



15. [Location]

What is the distance in kilometers from
Grand Rapids to Toronto?

km

_ake S(I/J('r

A

Great Lakes

L0 100 200km
Lake~ N . | IS
Huron (-,

Toromo@LaKerontaVriO_)

--------- “

Detroit &~ \’S@ L

16.

[Geometry]
Which of the shapes below is the front
view of this solid?

top

|

«~— side

front

C)

A)

B)

17.

[Units of Measurement] *

Write in pints:

8 qt = pt

18. [Measuring] *

Teams in the Tour de France start at

5 minute intervals. The first team
leaves at 2.15 P.M. There are 21 teams.
At what time does the final team

depart?

19.

[Perimeter / Area / Volume] *

Find the area of this rectangle.
[Area = length x width)

= o : ft?

20.

21.

22.

23.

24.

[Data Analysis]

During which year of a young person’s
life does his resting pulse rate
decrease the most?

A
2 150 Normal resting pulse rates
£ \ “-+|  in healthy persons  |-i-:-:-
§120 0 A A T
8 I
o
90
60
30
% 85 10 15 20
Birth Age (years)
year

[Probability / Statistics]
A total of forty students play tennts.
How many of those students also play
basketball and hockey?

[Problem Solving 1]
Fill in the missing number.

+5=9

[Problem Solving 2] *

Complete the magic
square.

[Hint: Every row, column and 6

diagonal has the same sum.]

[Problem Solving 3] *
How much is one book?

page 60




MATH'S MATE
Term 4 - Sheet 3

Due Date: .......... S s,

Parent's Signature: ...,

1. [+ Whole Numbers to 10] MULTIPLICATION
33120291 8 |31][24(12]35]17] 6 iSheckeiaAtiswey
e.g. Could this answer
+ 10 be correct?
2. [- Whole Numbers to 10] 31 x104.8 = 3248.8

141122 | 30 [ 15[ 16 [ 17 (|38 [ 1321 19 Check:

(3+1) x (1+4+8) = 3+2+4+8+8
-8 4 x (1+3) = 245

3.  [x Whole Numbers to 12] 4 x 4 = 7
1+6 S 7

4 6 5 / | 6 L 12] 2 | 10] 9 Yes, the answer is

x probably correct.

4. [+ Whole Numbers to 12] Could these be correct?

12.2 x 16.5 = 201.3
7028145635 6342|8477 ] 21] || BiZ2x 1537203,

5= 7 4724402 2 Abw (g ‘1224400 29 ADU (D :SJamSUY
5. [Large Number +,-] 8. [Decimals] 11. [Integers]
Start at -1. Move 4 to the left,
3765 24.19 Then move 3 to the right. At
- 896 -13.85 what number are you?

-

............

—+ + t + + + t 1
6-5-4-3-2-1012 345686

6. [Large Number x,+] 12. [Operations] *
58 9.  [Fractions] 120 + (5 x 6) =
2 13. [Place value] *
x 73 3-%= Estimate the difference

between the decimals 9.25 and
6.5 by rounding to the nearest
whole number before

10. [Decimals / Fractions / Percents] * subtrocting.
The price of 4 pounds of
7. Fones s grapes is $840 14. [Patterns / Equations] |
What is the price of Complete the table: Kandaroo
8000 + 100 = I pound of grapes? d
Speed (km/h) | 10 [ 15 | 20 | 25
$ Hop length (m)| 1.2 24 | 30

page 1 OOEOEEOEEE))



15.

16.

side —

17.

18.

19.

[Location]

How far is it from the Santos Dumont
Alrport to the International Airport in
Brazil?

23 Internationaf Airport North

'\‘ Atlantic Ocean
"'\ Santos Dumont Airport

.
| 2\ \@l] rio DEJANEIRO
__“

"® Copacabana

Ipanema

mi

[Geometry]
Draw the top view of this solid.

top

-

front
[Units of Measurement]

Write in liters:
9000 mL = L

[Measuring] *
The Sydney to Hobart Yacht Race starts
at 1:10 P.M. Eighty minutes before this,

other boats are excluded from the area.

At what time must they be gone?

[Perimeter / Area / Volume] *

Find the area of this door.

20.

21.

22.

23.

24.

[Data Analysis]
How much paint would you need to
paint 1400 square feet of wall area?

paint (gallons)

[Probability / Statistics]
Twenty families were surveyed. How
many have boys only?

Both
Girls boys and Boys No
only only children

girls
|

[Problem Solving 1]
Fill in the missing number.

8 x =56

[Problem Solving 2] #*
Complete the magic square.

[Hint: Every row, column and
diagonal has the same sum.) 121 4
9

14

[Problem Solving 3] *
A bookshop sold 200 books in its first
year of business. Since then sales have

80 cm doubled every year. What was the
T_*TW bookshop’s profit in the sixth year given
the yearly profit formula below?
i = Yearly profit = books sold x $2 - $1000
—-' cm
E rj cm? $
Red 4.3 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2011
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MATH'S MATE
Term 4 - Sheet 4

DueDate:......./....c../ e

Parent's Signature: ...,

1. [+ Whole Numbers to 10] DIVISION
12(139[24 17136201/ 31 131l 8 |/ 25 SRS
e.g. Could this answer
+ 2 be correct?
2. [- Whole Numbers to 10] 45,980 /209 = 220
1035 24][ 6 J[27] 9 [[13][32][31][ 28] || check) Aamscmmamen
(4+5+8)/ 2 = 2+2
-4 1+7) / 2 = 4

3. [xWhole Numbers to 12] 8/ 2 = 4

QU104 (5120301161 8111 Yes, the answer is

probably correct.

x 10
Could these be correct?

4, [+ Whole Numbers to 12] Cl) 19,646 / 517 = 38
TN 763128 5](10(¢9]12 b) 3525 / 47 = 65

":— 1 Buoum Apa41ujap (q 4924400 2q ADW (D :SuaMSUY
5. [Large Number +,-] 8. [Decimals] 11. [Integers]
Start at 4. Move 2 to the right.
4382 57.08 Then move 9 to the left. At
-3769 - 45.96 what number are you?

6543210123456

6. [Large Number x,+] 1 2. [Operations] *

7 7 9. [Fractions] (19 - ]2) x5 =

_X2_6 2 - 2 = 13. [Place Value] *

S Estimate the sum of the
decimals 10.38 and 4.71 by
rounding to the nearest whole

10. [Decimals / Fractions / Percents] number before odding.
Which is cheaper per
~ i 1o apple? 14. [patterns / Equations]
) wer 10 x,+ i
[RoWEsc ] A) $1.80 for 4 apples Complete the table: Timetable
-+ = B) $2.10 for 5 apples

50,000 + 100 )8 i*: Period 11 2 J| 3 | 4

Starting time | 8;25 | 9:10 10:40

Page 3 0000000000 000D



15. [Location] * 20. [Data Analysis]

What is the distance in miles from the At what temperature is the solubility of
Cheyenne camp to Black Kettle's camp? sodium chloride and potassium
Washita Battlefield & NN chlorate the same?
OKLAHOMA QS‘ “Arararo 5 100 ‘
(')_}_ 2K1lometers \oo ’ CAMP g
‘)”’C:‘?‘fa/f 0 71_ 2 Miles {\fj ::E;
~_ 7 KIOWA =
s VR (e o g S % o]
> Ialerkilled\E} o ) '-é"@ (d é’ !
g \ 5 \ i‘\/\/' ;:‘:,} i ) : 4 \\\-\ ; 0 4 H
e e o Wy CHEYENNE 0 20 40 60 80 100
BLACK | Thoops killed S CAMP Temperature (°C)
: __7KETTLE'S ;‘g
North }Ba;‘\/pio“ CAMP ; 4 (o]
% ¢
% = = 21. [Probability / Statistics] *
mi How many of the 20 families surveyed
16. [Geomety] have both electrical and wood heating?
Draw the side view of this solid
top 5
|
~— side Electrical Both Wood  Neither
- heating types of  heating type of
heating heating
v 22. [Problem Solving 1]
fron Fill in the missing number.
17. [Units of Measurement] *
Write in milliliters: 36 + =4
6L = mL 23. [Problem Solving 2] *
Complete the magic
18. [Measuring] * square 12116
The exam started at 11:20 A.M. After [Hint: Every row, column and 15
1 hour and 20 minutes Billy finished dlagonal has the same sum.] 14
and left the room. He left 15 minutes 24. [Problem Solving 3]
before me. At what time did [ leave Fill in the crosswords about time to
the exam room? , reveal the name for a long interval of
' time in the vertical box.
19. [Perimeter / Area / Volume] * Hangs on a wall =[S
Find the area of this baseball infield. 7 days i
: 3600 every hour|
y On your wrist
< 60 seconds
60 minutes
ft2 1440 minutes

Red 4.4 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2011
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MATH'S MATE
Term 4 - Sheet 5

Due Date: ........... /o, /A, p—

Parent's Signature: ..o

1. [+ Whole Numbers to 10] MAGIC NUMBERS
371201 5 |28 (16|23 12|31 14] 9 ¢ Take any 4-digit

number with 4 different
+5 digits. (e.g.3,1,7 &9)

2. [= Whole Numbers to 10] ,TUA?“‘L‘Z’; TYPLZ '2:36(5;731)

I 17]| 36 13] 141 48 1520 29 | 32 ¢ Then make the smallest

number you can. (1379)

8. [x Whole Numbers to 12]

SNellol1tlzZU21010051 4] 8 9731 - 1379 = 8352

¢Now take this answer
x 12 and repeat the process.
(8532 - 2358)

4. [+ Whole Numbers to 12] (If your answer has only 3 digits,
place a zero at the front.)

1101144 |77 1188 1199 66 |[132|[121]| 33 ¢ What number will you

always end up with?

4 Subtract it from your
large number.

+ 11

) [Large Number +,-] 8. [Decimals] 11. [Integers]
Which number is not a square
1679 12.1 SRBEL?
+ 840 X 4 Ad B 6& C)9

12. [Operations] *
6.  [Large Number x,+] 9.  [Fractions] 6-(18-13)+3=
Of the 18 plants in the
garden, one third are

roses. How many are 13. Place Value] *

8 5 9240 roses? Estimate the total cost by
rounding each amount to the
nearest hundred before adding;

7. [Powers of 10 x,+] 10. [Decimals / Fractions / Percents] * $7$?]0]% -50$9600 +$309.00 +
360 Two of the four Beatles i e $
6 were left handed.
x 10 What percent is this? 14. Pattems / Equations]
% 46 + =92

0/0/0/0/0/0/0/0/0C00010



sl

[Location]
What (s the length in units of
segment CD?

YA
4 — - y
Al D c
2 . i L . = )
1 = —
A B
0 >

units

20.

[Data Analysis]
On which part of the body is a 10 to 14
year old most likely to be bitten by a

dog?

Dog Bite Injuries: 10 - 14 yr.olds

(as treated in emergency departments)

[ ] Leg/Foot

[ other

] Head/Neck
P, Trunk
B Arm/Hand

21. [Probability / Statistics]
16. [Geometry] A store is selling general, outdoor and
Which two triangles are congruent? waterproof disposable cameras. Each
type comes with 15, 27 and 36
exposures. How many combinations of
disposable cameras are available?
[Complete the tree diagram to
help you solve the problem.] Cameras
and
Types [ general | | | | |
17. [Units of Measurement] * Eotiges ﬁ ‘
How many 5000 L water tanks are
necessary to fill a 30,000 L swimming 22. [Problem Solving 1] *
pool? Which deal costs less per ounce?
A) $5 for 50 oz
18. A[Measuring] * B) $3 for 25 oz
The Olympic record for the men'’s 23. [Problem Solving 2] *
1500 m athletics race was set by Noah Each flag represents a different digit.
Ngeny - Kenya (Sydney 2000) at 3:32.07 Can you find the solution to the cipher?
(3 min, 32.07 s). How many seconds
behind El Guerrouj's world record (1998) 3+ X =-[1
: P
of 3:26.00 was he’ i & " [D _ lZ EE]
19. [Perimeter / Area / Volume] * [Z = @ - / [D - / B—:_} -
The perimeter of a square is 40 ft. Find
the side [ength. 24. [Problem Solving 3]
‘ ; Fill in the missing digits, | 9
‘, using the digits 1to 9. B 6
| ft 5
A Red @Eﬂam Not to be reproduced without permission. J. B. Wright - Echuca 2011




MATH'S MATE m R s
Due Date: ........... y— YA
Term 4 - Sheet 6 RED PN ST - SR S

1. [+ Whole Numbers to 10] MOEBIUS MAGIC
]6 32 25 ] 1 39 30 23 ]7 24 18 A Mathematician confided,

That a Moebius band
+ 9 is one sided,
And you'll get quite a laugh,

2. [~ Whole Numbers to 10] if you cut one in half,
for it stays in one piece

14l 12][30][15][16][ 17][ 28] 13][ 11] 19 when divided

4 Draw a line down the
-8 middle of a long strip
of paper.

3. [x Whole Numbers to 12] ¢ Make one twist in the

A 1102090100510 81012I 611 7 strip and glue the ends

together to form a

= 6 band. ( ;

4 ¢ Cut the band along the
« [+ Whole Numbers to 12] line you drew down the

110)180 | 20| 30 || 70| 10| 50 ||100] 40 ||120 middle of your strip.

¢ Try with no twists.

=10 ¢ Try with two twists.
5. [Large Number +,~] 8. [Decimals] 11. [Integers]
22=2x2=
4212 24.2 g
1045 X 3
+2835

12. [Operations] *
17+ 16 - (23 - 14) =

9. [Fractions] *
Three quarters of the
6.  [Large Number x,+] 12 farms breed cattle.
How many farms breed
cattle? 13. [Place value] *
Estimate the perimeter of a
rectangular yard 6.1 mby 7.7 m
6 j 7 3 5 O 10. [Decimals / Fractions / Percents] * by first rounding to the nearest
Five of the top twenty meter.
7. [Powers of 10 x,2] baby names were the m
same in 1880 as they
200 were in 2010. What
x 100 percent of names were 14. [Patterns / Equations]
the same? . I
% o of =7/

page 7 010001010000 0000



15.

16.

17.

18.

19.

[Location]
What is the perimeter in units of the
square ABCD?

YA [
5 ;

4

3 -

A B
0 >
0 1 2 3 4 5 6 7 8x

units

[Geometry]

Which two shapes are similar?

Pagd

and

[Units of Measurement] #*

How many meters tall is the Statue of
Liberty (New York) if it is thirty times the
height of a 154 cm person?

m

[Measuring] *

A lunar month is approximately 29 days,
12 hours and 44 minutes long. What is
the time difference between a lunar
month and the month of June?

day h

min

[Perimeter / Area / Volume] *
The perimeter of an equilateral triangle
is 27 inches. Find the side length.

in.

20.

21.

22.

23.

24.

[Data Analysis]

Protein makes up about 15% of the
human body. Of the other components
which substance makes up about 16%?

] Water Composition

I Protein of the
Human Body

= Fat

Il Nitrogen

Other

[Probability / Statistics]

The school shop s selling T-shirts.

They come in two colors, red and navy.
There are four sizes to choose from:
small, medium, large and extra-large.
How many combinations of T-shirts are

available? [Complete the tree diagram to help you
solve the problem,] T-shirts

,/\

Colors )&

Sizes ﬁg

[Problem Solving 1] *

Which deal costs less per yard?
A) $1.50 for 15yd

B) $5 for 45 yd

[Problem Solving 2] *
When Tony has his birthday tomorrow,
his age in months will be the same as
his grandfather’s age in years. How
old will Tony be if their
combined ages will be 78?

[Problem Solving 3]
Fill in the missing digits. 2 b

3

Red 4.6 ©) Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2011
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MATH'S MATE
Term 4 - Sheet 7

) B 11T

DueDate:....../....

Parent's Signature: ...

1. [+ Whole Numbers to 10] MAGIC NUMBERS
]9 10 15 7 31 24 38 22 33 16 ¢ Think of a number from 2
to 10.
+/ ¢ Multiply it by 9
#Add the two digits
2. [~ Whole Numbers to 10] O%l:.lbfr'acf 5 ! think
¢ If your answer is 1, thin
18 ]5 191 12 14 ]O 27 33 11 26 of the letter A; if it is 2
think of the letter B and
-6 S0 o,
¢ Think of a country that
begins with this letter,
3. b Whole Numbers to 12] OTE?rI]k o‘zl‘rhe nlex‘rele‘r'rer‘ in
the alphabet.
i 10]| 6 4 5 12 2 / i 8 4 ¢ Think of a large animal
x 11 that begins with this
Ie‘r"rer. _
4. [+ Whole Numbers to 12] ’Ir:'n';‘gff TEeolara S
¢ Are you thinking of a large
144]108]| 36 || 72 ] 96 || 12[132]| 84| 60 [[120] || *are e thinking of
[ 12 Denmark?
5. [Large Number +,-] [Decimals] 11. [Integers]
67=6x6=
612 4.52 g
65 X 2
987
2 3 12. [Operations]
s 20~ (3+8)x2=
[Fractions]
Of the 36 videos on the
6. [Large Number x,+] shelf, one fourth are
comedies. How many 13
are comedies? - [Place Value] *
Estimate the total cost by
rounding to the nearest dollar:
7 j ] 7 1 ‘5 10. [Decimals / Fractions / Percents] * $]2]5 + $405 + $775 + $655
dl [Powers of 10 x,+] You have a Stomp
collection of 400 stamps. $
80 300 stamps are from
X ] O O O Canada. What percent 14. [Patterns / Equations]

(s this?

%

+ 39 =87

page 69
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15.

16.

17.

18.

19.

[Location]
What is the perimeter in units of the
rectangle ABCD?

YA : : : :
5ty =asmng iy pesesskeasesr

4 bt B

3

[Geometry]
These triangles are:

A) congruent,
B) similar or
C) neither,

[Units of Measurement] *
The average uncooked potato has a
mass of 6 ounces. How many potatoes
would you expect to find in a 3 pound
bag?

[Measuring] *

As of May 2005, Australian swimmer
Grant Hackett's world record for the
15600 m race was 14:34.56 (14 min,

34.56 s). How much slower was his
Olympic record time set in Beijing (2008)

of 14:38.92 minutes? S
[Perimeter / Area / Volume] *
The perimeter of a regular hexagon
(s 120 ft. Find the side length.
/

ft

20.

22.

23.

24.

. [Probability / Statistics]

[Data Analysis]
Which lobe of the brain is closest to
twice the volume of the parietal lobe?

Volume of Cerebral Cortex (brain)
by lobes

occipital
lobe

= frontal
“lobe

parietal
lobe
temporal
lobe

In how many ways can Lisa, Amelia and
Sophie be arranged for a group
phOtO? [Complete the tree diagram to help

you solve the problem.]

(@]
2N

middle @ [:Oj
| |

[0 [0

[Problem Solving 1] *
Which deal costs less per gallon?

A) $32 for 4 gal
B) $8.50 for 1 gal

left

[Problem Solving 2] *

A square has a perimeter of 60 inches.
A rectangle is the shape of two of these
squares placed side by side. What (s
the perimeter of the .
rectangle? n.

[Problem Solving 3]

Fill in the missing digits. 4 7
X 2

3 9
l 0

6

Red 4.7 © Copyright. Not to be reproduced without permission, J. B. Wright - Echuca 2011
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MATH'S MATE
Term 4 - Sheet 8

Due Date: ........... 2 YA

Parent's Signature: ...

1. [+ Whole Numbers to 10] SPECTAL NUMBERS
38 5 113](30] 7 J[21][36][ 4 [291/32] || acding 1o the
+8 product of 4
consecutive humbers
2. [- Whole Numbers to 10] GIWC(IZS gives a square
number.
6 13)34]12]40] 8 [ 7 [11]18][29] || oo e snenn.
-4 ALSO:
3. [x Whole Numbers to 12] Adding 1 to the

JN120 8006114111315 product of the first

and last numbers (3 x
x 9 6) + 1 always gives the

humber that is being
4. [+ Whole Numbers to 12] squared.

25 (110155150 || 1535 30| 20| 60| 40 In this example it is 19.

+9
5. [Large Number +,—] 8. [Decimals] 11. [Integers]
52=5
6518 16.2 )
144 X 4
+ 2 9 7 O 12. [Operations] *
144+28+(9=2)=
9. [Fractions] *
Two fifths of the $500
6.  [Large Number x,=] raised by the school is 13. (Place Value] *

collected by room 6G.
How much money does
6G raise? $

Effie swam 2.2 miles, rode her
pike 13.6 miles and ran
4,1 miles. Estimate the total

9 ) 9342 distance traveled by rounding
10. [Decimals / Fractions / Percents] *

to the nearest mile.
By the age of 2 a child is

7. [Powersof 10 x.s] about 50% of his adult mi
570 height. How tall was the
2-year old whose adult
X 1 O O 0 helght (s6ft2in? 14, [Patterns / Equations]
tin % of =19

pege 71 WEEWEEOEEEE0)



15.

16.

17.

18.

19.

[Location]
What s the perimeter in units of
rectangle ABCD?
YA |
5 | \

4| D C

units

3
2

1

0 >
0 1 2 3 4 5 6 7 8 X

[Geometry]
Circle the shape that is not congruent
with shape ABCD.

[Units of Measurement]

A typical person has 100,000 strands of
hair on his head. Suppose each
strand is 50 cm long. How many
kilometers of scalpal hair would the
typical person have? km

[Measuring] *

The Olympic records for the men'’s
athletics events of 100 m and 200 m
sprint are 9.69 s and 19.30 s respectively.
Both were set in Beijing in 2008 by Usain
Bolt (JAM). What is the difference in time
between the two records?

[Perimeter / Area / Volume] *

The perimeter of arectangle is 14 yd.

20.

21.

22.

23.

24.

[Data Analysis)

Which lake holds closest to one
quarter of the total volume of water
in the Great Lakes?

Volume of water in the Great Lakes

Il Lake Erie

| Lake Huron

/] Lake Michigan

[ Lake Ontarioe

| | Lake Superior

[Probability / Statistics]
How many different three-digit numbers
can be made using the digits 1, 6 and 8

once each? [complete the tree diagram
to help you solve the problem.]

2nd digit @
3rd digit e

[Problem Solving 1] *
Which deal costs less per ounce?

A) 75¢ for 8 oz
B) $2for 2 b

Lst digit

[Problem Solving 2] *

At the 2008 Olympics a sports
commentator said: “USA is one of the
16 countries with the maximum
allowed 3 runners. All together there
are 103 runners representing
60 countries.” How many
countries have 2 runners?

[Problem Solving 3]

If the width is 2 yd, find its length. Fill in the missing digits. ] 4
| X 8
2 yd
| ; vd ?
’ Red 4.8 ©) Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2011
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F. Whole Nt
| muMLW 8f12] ¢ J25]
|+_éjaoggj17[jl13,24 24] 18] 12]31]

I 10 12 0 KA IR B
L—7]5 2 [11]10] 3 27]6]§

- X Whole Numbers to 12] ¥
Dgzoumwmmm Ve, e mmsucr e
X 8 16| 72|56 |96 ||80|(40||32 |64 | || Pprobably correct

Could these be correct?

4. [+ Whole Numbers
0] 15] 256045 5 {55 30] 35 20 I 2))?35,3?3975933403

|

=518 [3f5[12]o1]11]e6]7 |4 ! e

)

.‘)ﬂ‘ﬁ

e

)
- e

. S 2

dddd
“"""‘"‘"’!"vwwww I D

=

B B bt e e

-

-
r

14 [integers]
Mark with a cross the number

1000 5.31 that is 2 to the right of -3
- 243 - 0.87

%S 7 4.44

[Large Number +,-] 8. [Decimals]

[Large Number x,+]

89 . [Fractions)
. [Place Value] *
X7 4 3 ] - 2é - Estimate the sum of the
356 Gl decimals 5,08 and 6.9 by
6230 rounding to the nearest whole
———— number before adding. 12

. [Decimals / Fractions / Percents] *

6586 Which ratio forms a
. [Pattems / Equations]

proportion with —; ?
[Powers of 10 X,+] Complete the table:
L - ﬁ Patterns

20,900 = 100 = No.ofstars | 1 | 2 | 3 | 4 |

—————r

209 No.ofpoints| 5 | 10 | 15| 20

0000000000000 0




. [Location] * 20. [Data Anatysis)
What is the distance along 18th Street How old, in dog years. is your dog after
from H Street to Constitution Avenue? 5 human yeors? Dog's life!
! 5 A » “ f’—:"m*
: %, . . is 1S ;7/,.#
\ 2 2 : //
/
LA
0 70 80 %0 100

0 10 20 30 40 50 60

e :4 T e |36 years I
' — s M- v st 21. [Probabimylsmﬁs‘icsl

T How many people jog?

he—. | 3000 ft I o B not

Swim and Jog  swim

; only orjog

9

16. [Geometry] only >
Which of the shapes below is the side ;
view of this solid? e 4
’ 3
Sy - 22. [Problem Solving 1]

7 Fill in the missing number.

27
A ™ 8 0 5
| [ 12 % =36

: 23. [Problem Solving 2] ¥
17. [Units of Measurement] * Complete the magic 41113
Write in quarts: square. 5167

Kint: € , column and

3gai= | 12at i et 2 i i s 918

ing] *
18. [Measuring) 24. (Problem Solving 3]

—

The flight to Los Angeles was scheduled e _
for 8:45 AM. but was delayed Fill in the appropriate numbers for the
§ 95 minutes due to fog on the runway. titles of the 5 famous stories below.
‘ Now add the § numbers.

Thieves
Dalmatians
Musketeers
Days
Dwarfs

What time did the
flight leave? |1 0:20 A.M.I
Ali Baba and the

19. [Perimeter / Area / Volume] *
Find the area of this square. The

|Area = length x length]
TR Around the World in 8
‘ B nd Snow White and the

55 in 2 TOTAL
. LJ m4.1©w Ndmbtnoted-ﬂunoemism. J. B, Wright - Echuca 2011
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3100 + 10 =
310

3 12 1 7
A)s’ B)E C)12 D)a

B

Food Intake - Giant Panda

No.ofdays | 1 | 2 | 3 | 4
e
Bamboo (Ib)| 30 |60/ %0 120

1) (vWhomNu_mbersmm; e .. — MULTIPLICATION
]A 32 :" 1 eck Your Arswer
e 36l2]ZIL1]3 54287 isfsifie t
' e.g. Could this answer
| 193211 17)35) 20 Cosed thie
2. [- Whole Numbers to 10) -t B, 46 x 92 x 39 = 165 043
11J126] 8| 5 12]33]14f ¢ [40| Clleck: Y /%=
-3)[8 235219 30]11] 6 [37 Sl e
<k [x Whole Numbers to 12) 1 x2x3= 2+4
9 7 { 2 %3 = 6
] é 5 &“ 4 “ Il I 3 “ ]O ] Yes, the answer is
P ) | 45|35 5 [|30l251601l20155115150 probably correct.
4. [+ Whole Numbers to 12] ‘ Could these be correct? |
{ 2 | a)21x85x37=69,045
64]40]88 ] 16]72] 56|24 32] 96 48] || £ %2205~ 45580
8|85 [1nf2]of7][3]4]12 || s
" [Large Number +,—] 8. [Decimals) 11. [Integers)
Mark with a cross the number
4205 98.45 that is 4 to the left of —1.
— 2474 -23.76 - 5 7
2031 74.69 V-2484~-3-£~-1 0V 1 £ 3 & 5 O
d2: [Operations] *
6. [Large Number X,+] ]6—4+7—3= 16
9. [Fractions]
6 4 5 2 7 13- [Place Value] *
X959 ﬁ + 3 il Estimate the difference
576 10 between the decimals 24.4 and
3200 14.8 by rounding to the nearest
it whole number before 9
10. [Decimals / Fractions / Percents] * subtracting.
3776 Which ratio forms a
DFOQOFNOH with i ? 14. [Pattems / Equations)
7. [Powersof 10 X,+] Complete the table:

0000000000000 O




15. [Location) * 20. [Data Analysis)

What is the distance in kilometers from During which year of a young person’s
Grand Rapids to Toronto? life does his resting pulse rate
: I 500 km I decre‘?se the most?
%150 [ Normal resting pulse rates
;120 SR T B R
sk R G
60 —— -t
: G0 B g
30 .'T ....................
16. [Geometry] 0 0 18 20
Which of the shapes below is the front P e
view of this solid? l 1st year I
fop 21. [Probability / Statistics)
! _ A total of forty students play tennis.
| ) = How many of those students also play
| v basketball and hockey?
C)
! A)
| B)
| 8 I

17. [Units of Measurement] *
Write in pints: 22. [Problem Solving 1]

8qt= l 16 pt I Fill in the missing number.
18. [Measuring) * +5=9

Teams in the Tour de France start at

: 5 minute intervals. The first team 23. [Problem Solving 2] *
leaves at 2:15 P.M. There are 21 teams. Complete the magic 9
At what time does the final team square.
depart? 355 PM ot e 16|11
L__I‘ — 8713
19. (Perimeter / Area / Volume) * 24. [Problem Solving 3] *
| Find the area of this rectangle. How much is one book?

[Area = length x width)

= A B
S 520 |
Red 4.2 © Copyright. Not to be reproduced without permission. J. B. Wright - wmzou
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1. [+ Whole Numbers A [ . S > f-‘.’J;".':‘LIi(,'VATTOTJ
33120129 8 |31 ]24)12f35)17] ¢ |
+10]143]30)39] 184134 |22 45]27[ 16 || 9 Could this answer
be correct:
2. [~ Whole Numbers to 10} 31x104.8 = 32488
_ag22q30]1sfef 17381321 19f ) checx
=816 14]22] 78 [ o [30] 5 [13[1 s ke
3. [x Whole Numbers to 12] i 4 x 4 = 7 |
| 1+6 = 7
Al8)s571 el2f2]i0]9 .
Yes, the answer is
x 4 ][16]32]20] 28] 4 [24][48] 8 [40]36 | probably correct.
4. [+ Whole Numbers to 12] ‘ Could these be correct?
‘ a)122 x16.5=201.3
70028141156 35] 63 [[42[ 84 ][ 7721 Jll D ¥ess oy anins
+ 7 10 4 2 8 5 9 6 12 11 3 L $00000 39 0% (§ 1394090 3G Aow (0 ssawsuy
5. [Large Number +,~] 8. [Decimals) 11. [Integers)
Start at —1. Move 4 to the left.
3765 24.19 Then move 3 to the right. At
— 896 -13.85 what number are you? 5
2869 10.34 S
6. [Large Number X,+] 12. [Operations] ¥
5 8 9. [Fractions] 120 + (5 X 6) e 4
2 3 13. [Place Value] ¥
Py X3 Ut 2¢ Estimate the difference
174 between the decimals 9.25 and
4060 6.5 by rounding to the nearest
——— whole number before [2
42 3 4 10. [Decimals / Fractions / Percents)] * subtracting.
The price of 4 pounds of
L e it grapes is $8.40 14. (Pattems Eqetonel
7. [Powersof 10 x,+] What is the price of Complete the table: Kiearee
8000 + 100 = | pound of grapes? Speaaiail] 0 [ 5 [ 2 | %
80 $2.10 Hop length(m)] 12 |1.8/ 2.4 | 30

0000000000000




15.

| 16.

[Location] *
How far is it from the Santos Dumont
Airport to the International Airport in

12 mi |
[Geometry] . E

Draw the top view of this solid.
top

—4—

p

=

front

. [Units of Measurement] *

Write in liters:
9000 mL = | 9L i

. [Measuring] *

The Sydney to Hobart Yacht Race starts
at 1:10 P.M. Eighty minutes before this,
other boats are excluded from the area.
At what time must they be gone?

|11 :50 A.M.H
. [Perimeter / Area / Volume] *

Find the area of this door.
._80 cm

‘1 6,000 cm? I

20.

00000 00 000@® -

[Data Analysis]
How much paint would you need to

paint 1400 square feet of wall area?

paint (gallons)

Twenty families were surveyed. How
many have boys only?

. [Probability / Statistics]

Both
Girls boys and No
only girls only children

N\ e (I)

. [Problem Solving 1]

Fill in the missing number.

8 x [ =56

. [Problem Solving 2] *

Complete the magic square.
[Hint: Every row, column and
diagonal hos the same sum.) 12

8
-

. [Problem Solving 3] *

A bookshop sold 200 books in its first

year of business. Since then sales have |

doubled every year. What was the
bookshop's profit in the sixth year given
the yeorly proflt formulo below?

m43@cwvz Nonobeumammwmsm J. B. Wright - Echeca 2011
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1.

[+ Whole Numbers to 10)

12392417

36

Name

Due Date

Parent’s Signature

(2031 13] 8 [ 25]

+2 114412619

38[2233[15

10

Could this answer
be correct?

7]l <o

g

2.

[~ Whole Numbers to 10]

1035 ] 24]

[27] 9]

13323128}

45,980 / 209 = 220
Check:

-4 6 ||31]20

23| 5 || 9 |28

27

(4+5+8) /2 = 242
(17) /2 = 4

3.

[x Whole Numbers

8 /2 = 4

9o 0] 4]

12 [ 6

Yes, the answer is
probably correct.

x 10§90 |100j 40

60

4.

[+ Whole Numbers

Could these be correct?

14 7

2 10

a) 19,646 / 517 = 38
b) 3525 / 47 = 65

=1 |11 7

2 10

»x

12

Bunum Apame 39 (371294000 3G Aos (0 Samsuy

S. 8.

[Large Number +,—]

4382
-3769

613

[Large Number X,+]

77
X 26

462
1540

2002

[Powers of 10 X.+]

50,000 + 100 =
500

[Decimails)

57.08
-45.96

1l 2

[Fractions}

2
2-3=

Which is cheaper per
apple?

A) $1.80 for 4 apples
B) $2.10 for 5 apples

. [Decimals / Fractions / Percents] *

B

11.

[Integers]

Start at 4. Move 2 to the right.
Then move 9 to the left. At
what number are you?

. [Operations) ¥

(19-12)x5=

. [Place Value] ¥
Estimate the sum of the
decimals 10.38 and 4.71 by
rounding to the nearest whole

number before adding. 15

. [Patterns / Equations]

Complete the table:
Timetable

3] 4
9:55(10:40

1| 2
8:25|9:10

Period
Starting time

0000000000000 ©




15

[Location] *
What is the distance in miles from the
Cheyenne camp to Black Kettle’s camp?

Washita Battlefield

e, 0o 1
S,
R 3

OKLAHOMA

0 1 2 Kilometers

2 Miles

CHEYENNE

[ Myes

BLACK - _CAMP
KE"TLE s ........... o
North ?ina«'n'ps” CAMP
%
5 mi
16. [Geometry]
| Draw the side view of this solid.
: top
|
-~ side
front
17. [Units of Measurement] *

18.

19.

Write in milliliters:
6l =

I 6000 mL I

[Measuring] *

The exam started at 11:20 AM. After
1 hour and 20 minutes Billy finished
and left the room. He left 15 minutes
before me. At what time did I leave

the exam room? 12:55 P.M

E

[Perimeter / Area / Volume] *
Find the area of this baseball infield.

8100 ft? '

20.

21.

22.

23.

24.

|Data Analysis)
At what temperature is the solubility of
sodium chloride and potassium

chlorate the same?
g 100
g
; = ‘ ‘wdmmcnm.m /
g / chiordi
3 . /M
0 20 40 60 % e
Temperature (*C)

| 80 °C I
[Probability / Statistics) *

How many of the 20 families surveyed
have both electrical and wood heating?

DR

Electrical Both Wood Nedher '
heating  typesof  heating type of 4
heating heating _|

[Problem Solving 1]
Fill in the missing number.

(2]

[Problem Solving 2] *
Complete the magic

square.
[Hint: Every row, column and
diagonol has the same sum.]

[Problem Solving 3]
Fill in the crosswords about time to
reveal the name for a long interval of
time in the vertical box.

Hangsonawal c/||o K
7 days w|E|elk
3600 everyhour s|e c|o|N|d|s
On your wrist walT|c h
60seconds m i/ n{U|t|e
60 minutes |h|o|u|R
1440 minutes dalY

mu@c«w-m N«wummnmwm 18 m tcmzon

'*r—\.,l
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1. [+ Whole Numbers to 10] MAGIC NUMBERS

371120 5 |28 » 140 9 Bl +vake any 4-digit
+5 42 25 10 33 19 14 : number with 4 different

digits. (eqg.3,1,7 &9)

=
N

2. [~ Whole Numbers to 10] ¢ Make the largest

‘ number you can. (9731)
1 17 36 ]3 29 ” 32 I ¢ Then make the smallest
10051 7 1261 3 5 19/ 22 Il number you can. (1379)
| ¢Subtract it from your
3. [xWholeN large number.
3 6 8 I 9731 -1379 =8352

¢ Now take this answer

X 121|136 || 72 96 and repeat the process.
(8532 - 2358)

4, [+ Whole Numbers (If your answer has only 3 digits
place a zero at the front.)

| ]0 44 88 11 33 + What number will you

always end up with?

~11]10] 4 8| 1 3 e

I CEEEERENESD

- .

il

%

I

A

o [Large Number +,—] 8. [Decimals] . [Integers]
Which number is not a square

1679 12+ 1 number?
+ 840 X 4 A)d B)6 C)9

[ lals

2519 48.4 .1 24

. [Operations] *
Qo s 3 oo | 6—(18-13)+3=
Of the 18 plants in the
de1t5:D garden, one third are

5 O NI o . [Epsi?'cfﬁvéltuee]t;e total cost by

im
8)9240 jocet 6 rounding each amount to the
nearest hundred before adding:
$79.00 + $96.00 + $309.00 +

7 [Powers of 10 X,+] . [Decimals / Fractions / Percents] * + S} 12 OO
Two of the four Beatles ' $600.00
360 were left handed.

. .l 0 What percent is this? . [Pattems / Equations]

3600 50% 46+ 46 [[=92

0000000000000/




15.

16.

1.

18.

19.

[Location]
What is the length in units of
segment CD?

Y A
4

3
2

1

0 >
o 1 2 3 4 5 6 7 8x

l 4 unitsI 1.

[Geometry]
Which two triangles are congruent?

N7

| 1 and 2 I
[Units of Measurement] *

How many 5000 L water tanks are
necessary to fill a 30,000 L swimming

K
[Measuring] *

The Olympic record for the men’s

1500 m athletics race was set by Noah
Ngeny - Kenya (Sydney 2000) at 3:32.07
(3 min, 32.07 s). How many seconds
behind El Guerrouj's world record (1998)

of 3:26.00 was he?
| 6.07 s '

[Perimeter / Area / Volume] *
The perimeter of a square is 40 ft. Find
the side length.

|

14

| N YY)

[Data Analysis)
On which part of the body is a 10to 14
year old most likely to be bitten by a

dog?

Dog Bite Injuries: 10- 14 yr.olds

(as treated in emergency departments)
[] Leg/Foot
Il other

3 Head/Neck

m Trunk

I Arm/Hand

| arm/hand I
[Probability / Statistics]

A store is selling general, outdoor and
waterproof disposable cameras. Each
type comes with 15, 27 and 36
exposures. How many combinations of
disposable cameras are available?

[Complete the tree diagram 0 IE

help you solve the problem.] Cameras

Types general outdoor aterproof
Exposures [15] 27 36 (15 [27] 36] [15] [27] 136)

. [Problem Solving 1] *

Which deal costs less per ounce?

A) $5 for 50 oz

B) $3 for 25 oz
Each flag represents a different digit.
Can you find the solution to the cipher?

3+K-(dld
X<l =[d
=8, H=2, BH=6

. [Problem Solving 2] *

24, [Problem Solving 3]

Fill in the missing digits, 1 @ o
X 6

using the digits 1to 9.
9] 5 [4]

Red 4.5 © Copyright. Not 1o be reproduced without permission, . B. Wright - Echuca 2011
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MOEBIUS MAGIC

" A Mathematician confided,
" That a Mocbius band
-~ ; ©- is one sided, '

gyt

forifﬂoyshm 74
4, when divided | ,,

¢ Draw a hne down the
middle of a long strip

of paper.
¢ Make one twist in the

strip and glue the ends
together to forma
band.

¢ Cut the band along the
line you drew down the

[Large Number +,~]

4212
1045
+2835

062

[Large Number x,+]

6)7350 10.

[Powers of 10 x,+]

200
x100

90,000

[Decimals)

24.2
X 3

[Fractions) *

Three quarters of the
12 farms breed cattle.
How many farms breed

cattle?

[Decimals / Fractions / Percents] *
Five of the top twenty
baby names were the
same in 1880 as they
were in 2010. What
percent of names were

the same?
‘

14.

middle of your strip.
¢ Try with no twists.
¢ Try with two twists.

12. [Operations) *

17+16-(23 - 14)=

[Place Value] *

Estimate the perimeter of a
rectangular yard 6.1 mby 7.7 m
by first rounding to the nearest

meter. ;

. [Integers]

22=2x2=

13.

[Patterns / Equations)

coooooooomae@ o

e T TS FEEIESSI—INI_——S—SI—————..—.—.n



15. [Location]

What is the perimeter in units of the

square ABCD?

Yk

5 1
4 D G

3 ==
2

: A B

0 >
0 1 2 3 4 5 6 7 8x

| 12 units I
. [Geometry)

Which two shapes are similar?

| 1 and 3 I
. [Units of Measurement] *

How many meters tall is the Statue of
Liberty (New York) if it is thirty times the
height of a 1564 cm person?

46.2 M

. [Measuring] *
A lunar month is approximately 29 days,

12 hours and 44 minutes long. What is
the time difference between a lunar
month and the month of June?

| Oday 11h 16 minI

. [Perimeter / Area / Volume] *
The perimeter of an equilateral triangle
is 27 inches. Find the side length.

A\

._-—I-—-o

:
NEAL . tlras

20. [Data Analysis]

Protein makes up about 15% of the
human body. Of the other components
which substance makes up about 15%?

[ Water ~ Composition

. of the
W Protein
Human Bod
B Fat “ y
I Nitrogen
B3 Other
fat

. [Probability / Statistics]

The school shop is selling T-shirts.

They come in two colors, red and navy.
There are four sizes to choose from:
small, medium, large and extra-large.
How many combinations of T-shirts are

available? [complete the tree diagrom to help you
solve the problem,] T-shirts

Colors

sies M7 LT X IS M7 LT

[Problem Solving 1] *
Which deal costs less per yard?

A) $1.50 for 15 yd

B) $6 for 45 yd

When Tony has his birthday tomorrow,
his age in months will be the same as
his grandfather’s age in years. How

old will Tony be if their
combined ages will be 78? IEI
Fill in the missing digits. 2 b
3

X
7 @)

23. [Problem Solving 2] *

. [Problem Solving 3]

Red 4.6 © Copyright. Not to be reproduced without permission. J, B. Wright - Echuca 2011
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1. [+ Whole Numbers to 10] d - L - _ ‘ MAGIC NUMBERS
19 10 15 311241 38]22 33 16 Il +rvink of o mmber frc
+7 261712214 383145294023} | +maripsir6y5

dd the twe
¢ Add the two digits

2 [~ Whole Numbers ¢ Subtract 5

¢ If your answer is 1, think

1815 19 1411027 33 11 ] 26 Jlf "ot treterrer a: £t is2

think of the letter B and

-6 |12 9 (13 6 [ 8| 4 211271 5 20l soon

¢ Think of a country that

3.  [x Whole Numbers begins with this letter
¢ Think of the next letter in

10 6 17189} the alphabet
| ¢ Think of a large animal
11 that begins with this
O 66 77 88 99 : letter
¢ Think of the color of this
animal

]44 ] 08 72 96 ] 32 60 ] 20 ¢ Are you thinking of a large

gray elephant from

120121 9 6 8 11 5110 Denmark?

A1 " Y YY Y Y Y

+ Whole Numbers

NN

O: [Large Number +,—] 8. [Decimals] 11. [Integers]

5 162 4.52 6%=6x6= 36 |
65 SERE

9 8 7 9 . O 4 . [Operations] *

a2 29— (3+8)x2= i "1
1 6 8 7 - [Fractions]
Of the 36 videos on the

6. [Large Number x,+] shelf, one fourth are
comedies. How many
245 are comedies?

. [Place Value] *
9 Estimate the total cost by
rounding to the nearest dollar:

7 j ] 7 ] 5 10. [Decimals / Fractions / Percents] * 512]5 + 8‘105 + 5775 + 5655

B D vars of 10 s You have a stamp

- | collection of 400 stamps. $31.00
80 300 stamps are from

x1000 Canada. Whatpercent 4

— is this?

80,000 75 % 48 || +39=87

0000000000000

. [Patterns / Equations]
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15.

16.

18.

19.

[
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X

[Location] ata Analysis] '
What is the perimeter in units of the Which lobe of the brain is closest [0
rectangle ABCD? twice the volume of the parietal lobe?
YA Volume of Cerebral Cortex (brain)

5

4

by lobes

[Probability / Statistics]

: Sophie be arranged for a group

14 unit . S e

2 S DhO{Oo [Complete the tree diogrom to help 6

[Geometry] you solve the problem
These triangles are: e e o
left © A S

A) congruent, 7S 3 P
imi r A A A A A A
B) similar o ricae [B] [S] [0 [8] [D] [B]

C) neither.

. [Units of Measurement] *
The average uncooked potato has a
mass of 6 ounces. How many potatoes
would you expect to find in a 3 pound

bag?

[Measuring] *

As of May 2005, Australian swimmer
Grant Hackett’s w
1500 m race was 14:34.56 (14 min

34.56 s). How much slower was his
Olympic record time set in Beijing (2008)

of 14:38.92 minut

[Perimeter / Area / Volume] *

R In how many

right

ways can Lisg, Amelia and

22. [Problem Solving 1] *
Which deal costs less per gallon?
A) $32 for 4 gal
3 B) $8.50 for 1 gal A
23. [Problem Solving 2] *
A square has a perimeter of 40 inches.
T T oy A rectangle is thg shape of two of these
squares placed side by side. What is
the perimeter of the 2
rectangle? 90 in.
2
eS¢ 436 S 24. [Problem Solving 3]

The perimeter of g regular hexagon

S 140 ft. Find the side length.

1

Fill in the missing digits.
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Adding 1 to the
product of 4

consecutive numbers
always gives a square

6 J13)3a]12]a0] 8] 7]

AI!IEiEIEJl]III!IIiﬂlIEB;

number.
(eg. Ix4x5%x6+1=19%)

ALSO:

Adding 1 to the

product of the first
and last numbers (3 x
6) + 1 always gives the
number that is being
squared.

5. [Large Number +,~] 8.

6518
144
+2970

| 9632] 4

6. [Large Number x,+]

9)9342

7. [Powers of 10 x,+]

570
x1000

‘570,000'

10.

[Decimals] 1.

6.2
X 4

[Fractions) *

Two fifths of the $500
raised by the school is
collected by room 6G.
How much money does

[Decimals / Fractions / Percents) ¥
By the age of 2 a child is
about 50% of his adult
height. How tall was the
2-year old whose adult
height is 6 ft 2 in?

|3ft1inh

12.

13.

14.

000@00000@0@@@

In this example it is 19.

[Integers]
e

[Operations] *
14+28+(9-2)=

18 |

[Place Value] *

Effie swam 2.2 miles, rode her
bike 13.6 miles and ran

4.1 miles. Estimate the total
distance traveled by rounding
to the nearest mile.

[Patterns / Equations]

—;-of=19



15. [Location] 20. [Data Analysis]

What is the perimeter in units of Which lake holds closest to one
rectangle ABCD? | VA TS I quarter of the total volume of water
YA in the Great Lakes?
) Volume of water in the Great Lakes
4 L £ I Lake Erie
3 B Lake Huron
Lake Michigan
% A B I Lake Ontarioz
1 [] Lake Superior
o e e T | Lake Michigan I
16. [Geometry)
Circle the shape that is not congruent 21 [Probability / Statistics]
with shape ABCD. How many different three-digit numbers

C can be made using the digits 1, 6 and 8

once each? [complete the tree diagrem
to help you solve the problem.]

A B 1st digit o o e
\_/ anddigit (6) (8) (1) (8) (1) (6)
17. [Units of Measurement] *
©®

A typical person has 100,000 strands of sradigit (8) @ @ 0
hair on his head. Suppose each 168 186 618 681 816 861
strand is 50 cm long. How many 22 (Problem Solving 1] *

kilometers of scalpal hair would the Which deal costs less per ounce?

; ? l I
typlCO[ person have’ 50 km A) 75¢ for 8 oz B
B) $2 for 2 b -

18. [Measuring] *

The Olympic records for the men’s 59, PR
athletics events of 100 m and 200 m At the 2008 Olympics a sports

sprint are 9.69 s and 19.30 s respectively. sormmentoter snld ISk leoneohihe
Both were set in Beijing in 2008 by Usain 16 counicies with tﬁe vy

Bolt (JAM). What is the difference in time allowed 3 runners. Al together there
between the two records? are 103 runners representing

E

9.61 s 60 countries.” How many

19. (Perimeter / Area / Volume] * countries have 2 runners?

The perimeter of a rectangle is 14 yd. 24. [Problem Solving 3]
If the width is 2 yd, find its length. Fill in the missing digits. 1 @ 4
| 8

|

2yd¥

X
| ; 5 yd | [8) 9 (2]
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